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1. Suppose a firm’s short run cost curves were found to be: TC = g? + 49 +5, where g is output. What is the firm’s AVC
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2. inthe short run:
/@' All costs ape fived
{4 All coste’are variable
([cDAt lesfst one cost is fixe
(st} The marginal cost curve mé:ersects the average {ixed cost curve at its lowest poi
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ie price of capital Is S20 per unit and capital is fixed st

2, Output for a simple productmn process is given by

s
% units in the short runx‘f“hp price of labor is 38 par init. What is the total cost of producing 100 units of output?
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{d} Kehd L must be inputs substitutes.

5. Suppose & production function is given bym'l’he price of capitai iz S$i0 andthe pnce of abo is $" .The
capitalis fixed st thelevel K = 0 thd is the total cost function of the rm?
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